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@ Better parking A local high school makes a change
- that should improve student satisfaction with the

parking situation. Before the change, 37% of the
school’s students approved of the parking that was
provided. After the change, the principal surveys an
SRS of 200 of the over 2500 students at the school. In
all, 83 students say that they approve of the new park-
ing arrangement. The principal cites this as evidence
that the change was effective. Perform a test of the
principal’s claim at the a = 0.05 significance level.

EZ) Better parking Refer to Exercise 41. .
(a) Describe a Type I error and a Type II error in the
setting, and explain the consequences of each.

(b) The test has a power of 0.75 to detect that p =
0.45. Explain what this means.
(c) Identify two ways to increase the power in part (b)

ComPiLeTE TEDT 0 F STATISTICS
TEMPLATE

Are boys more likely? We hear that newborn babies

are more likely to be boys than girls. Is this true? A

Wym@ncluded
13,173 boys.® Boys do make up more than half of the
sample, but of course we don’t expect a perfect 50-50

split in a random sample. o
(a) To what population can the M
be generalized: all children or all firstborn children?
Justify your answer.
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(b)/Do these data give convincing evidence that

oys are more common than girls in the popu_lation?
Carry out a significance test to help answer this

question.
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Pé) Teen drivers A state’s Division of Motor Vehicles

. (DMV) claims that 60% of teens pass their driving ' 149
test on the first attempt. An investigative reporter %
examines an SRS of the DMV records for 125 teens; com PLETE TEsT OF STansncs
86 of them passed the test on their first try. Is this TemPLA TE
good evidence that the DMV’s claim is incorrect?

Carry out a test at the a = 0.05 significance level to
help answer this question.
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interval for the proportion of all teens in the state who
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(b) Explain what t-he interval in part (a) tells you

_/_aboutthe DMV’s claim. . \
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Test of Significance Template

Interest

Parameter of
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English:

Symbols: -H‘o s p =,37

Alternative
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P-value

Use correct probability notation.

P(2% 1.5)= nwmel cdf (1.22,E99,0,1) = ,00%
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Test of Significance Template

Pavameter of

lnterest

’P = Q( *‘\)C\ P/’Q()Uf ""\'g\r\ bU YS LL’L’\O were L\rS‘ b\/h (‘L\t: ]d/e,«,

ONE SAmPLE 2 TesT Fue P

= 0 (‘Since No &« Was (J.\)p.\_\>

ol
English:
Symbols:  He L P =
English: '
Hyuntgesls Symbols: “n Y g o 4

andltlons of

@ Pandom Scemple o4 Lirst bourn chiVdren

Recsonchle Yere are 25 4esl1s) =254, Exc
forst bern chitdrea

(D) Trdepordent:

6\1 /L’ar”](‘ CO:"J,.‘LJDI‘\ me: 5

NP = 25%5(.S) =12, 73y > 1o hy- 254 us(es)=12734> 5

Sampllng
Dlsinbutlon
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the mean:
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Test of Significance Template
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the mean:

Samplmg X= §6 pe ssed ) S

|n="145 A P
i _ ) _-77’//1 i - .
| F =55 to P58
. | Formula: . Plug-ins & Value
Z TP nl)) .é%'}-'b 03§ -2.0)
% * [ - o5 g 27 JED - ot
5o Eokdie -5 : Use correct probability notation.
° P-value
- ;_ s P (24303 o P(Z 7 ) U) j(nwmcl cd¥ (.01 LEI9, 9 1\3 J( 021)-— o4
# o Meamng of P (rO‘—l‘-B L (,(;._g% — ‘
A |N the P-value R eject Ho .
@ s [P
4 e . yReject null hypothesis (7 significant result
E 'J\ : : o : [ Fail to reject null hypothesis | [J Not Significant result
VA g - [ English: . N
N : Sin(e "H\e ’PU’()\)’ IS ,655 \chn '03/ lve

V\CAC\;\’ Hc T S o (-FPLUS “H\L‘f a P,Q‘D¢rhu,«\ O\H\fz
%Ln  LO o +€€r\b Pc:)5 '-H\e Clyf.\}\/\ ~,—€5‘}

on Weir Toest c“«meh Smce WHuz Yig 1t 15
aQ 3\ ’\'L\ "“(3+ %e Pro()brhuﬂ cod B b—&

cHove or \)e |()(,\, i X




